FOR MORE CLASSES, NOTES, PREVIOUS QUESTION PAPER, MOCK TEST
RELATED TO UGC NET COMPUTER SCIENCE...

WHATSAPP ME ON - 900 322 4906

JOIN - NET ASPIRANT ACADEMY - PAPER | - TELEGRAM GROUP

https://t.me/+TFLwS3tksGobZ9t\W

JOIN — NET ASPIRANT ACADEMY - PAPER Il - COMPUTER SCIENCE -
TELEGRAM GROUP
https://t.me/+Gbj3SOKVENKsd HpM

JOIN - NET ASPIRANT ACADEMY - PAPER | - WHATSAPP GROUP

https://chat.whatsapp.com/L5MvmUZheMN3MOEE3Xwn31

JOIN — NET ASPIRANT ACADEMY - PAPER Il - COMPUTER SCIENCE -
WHATSAPP GROUP
https://chat.whatsapp.com/Hqgt34eeqiGxGOEvhsliwh?2

YouTube: https://youtu.be/alhnxFXdwPg

Website: www.netaspirants.com
Instagram: ntanetaspirantacademy

Facebook: https://www.facebook.com/groups/157842666514511/?ref=share
Whatsapp Number: 900 322 4906

Contact Number : 900 322 4906 / 9566 190 514

FOR MORE DETAILS

Www.netaspirants.com

Thanks & Regard
M.PERIASAMY.MCA.,SET.,NET
ASSISTANT PROFESSOR

DEPT OF COMPUTER SCIENCE


https://t.me/+TFLwS3tksGobZ9tW
https://t.me/+Gbj3OKVENKsd_HpM
https://chat.whatsapp.com/L5MvmUZheMN3MOEE3Xwn31
https://chat.whatsapp.com/Hgt34eeqiGxG0Evhsliwh2
https://youtu.be/alhnxFXdwPg
http://www.netaspirants.com/
https://www.facebook.com/groups/157842666514511/?ref=share
http://www.netaspirants.com/

3/25/23, 2:10 PM https://test.cbexams.com/ugc/ugcrespp3/UGCCandResponse.aspx?htno=0XikAWb07FhNgRV7v3zH%2fg%3d%3d

(Option 1 [33297]) 1
(Option 2 [33298]) 2
(Option 3 [33299]) 3
(Option 4 [33300]) 4
Answer Given by Candidate : 1

Sl. No.101
QBID:15201001

The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
‘ears | M IF M F M [F M [F M [F
2016 (220 |165 [315 210 225 |155 [280 |205 [233 |105
2017 330 [210 HM20 |310 [345 |165 H20 |315 [390 [260
2018 230 |90 [370 |240 [240 |140 HM65 |365 M35 [325
2019 B0 245 [570 M20 [330 210 [630 [470 M43 [290
2020 390 [320 [530 |260 [390 [315 [720 |510 [590 |60
2021 110 260 [320 |360 [340 |345 [780 |605 [680 490

FRfcRad drferT 34 4N (M) Gﬁ?m%?ﬂmEaﬁﬂ@aiﬁﬂwﬁ‘@ﬁ?ﬂ%,ﬁ%ﬁﬁmﬂtﬁ%ﬂﬁm{]ﬁaﬁzolé@
2021 I U d1i¥cs Wl TS H YA e | A1l & idba! & TR U UY &1 SR alivig |

TYdley H IR GaR fqavo

o A B C D E
| @y M F M F M F M F M F
2016 220 165 P15 [210 [P35 |155 [280 [205 [P35 |105
h017 330 10 B20 [310 [345 165 [420 [315 P90 [260
D018 D30 |00 |70 [240 [240 140 [465 [365 W35 325
2019 180 45 [570 [420 [330 P10 [630 1470 {45 [290
2020 500 320 p30 [260 [390 [315 [720 [510 590 [460
D021 110 P60 [320 [360 [540 [345 [780 |605 [680 [490

The difference between the number of male and female athletes from country C was the second highest in the vear

.2016
.2017
.2019

4.2021
(Option 1 [32701]) 1
(Option 2 [32702]) 2
(Option 3 [32703]) 3
(Option 4 [32704]) 4

SR ¢ YUY 3R Higdl Uiy &I Il & dld &l 3R 9y o g gafiee ot |

. 2016
.2017
. 2019
4.2021
(Option 1 [32701]) 1
(Option 2 [32702]) 2
(Option 3 [32703]) 3
(Option 4 [32704]) 4
Answer Given by Candidate : 3

Sl. No.102
QBID:15201002

[ N

L N R
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M F M F M [F M [F M F
2016 220 |165 315 [210 225 |155 [280 |205 235 [105
2017 330 210 H20 310 [345 165 K20 [315 [390 [260
2018 230 190 [370 [240 [240 |140 Me> [365 M35 (325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 390 [320 [530 260 [390 [315 (720 (510 [590 [460
2021 H10 260 [320 360 [540 [345 [780 [605 [680 [490

FrafaRad it 39 948y (M) Sﬁ?m%?ﬂ(ﬂEa?ﬂaﬂae‘ﬁﬂwﬁ‘c{mf‘rﬂ%,ﬁ%ﬁﬁmﬂqﬁéﬁﬁmﬁﬂaﬁfzomﬁ
2021 T% U NS W S H YT e | AT & fidba! & TR I Uy H1 3R alivid |

TYdley &1 TR ¢aR fqavo

o A B C D E
| ad M F M F M F M F M F
D016 220 165 P15 210 [P25 155 [280 P05 P35 [105
D017 330 10 B20 [310 [345 165 [420 P15 P90 [260
7018 230 |00 70 |20 [p40 140 [465 365 35 325
2019 180 45 570 [420 [330 P10 [630 170 [45 [290
2020 500 520 P30 [260 [390 P15 [720 [510 [590 |460
D021 110 P60 |20 [360 [540 [345 [780 [605 [680 [490

The average number of female athletes who participated from Country B over all the vears together was

.300
)
.310

4. 280
(Option 1 [32705]) 1
(Option 2 [32706]) 2
(Option 3 [32707]) 3
(Option 4 [32708]) 4

G B @I 3R Y il quf o YFT o arefl Afga Tyelicy &1 i gd U o |

1. 300

2:275

3.310

4. 280
(Option 1 [32705]) 1
(Option 2 [32706]) 2
(Option 3 [32707]) 3
(Option 4 [32708]) 4
Answer Given by Candidate : 1

Sl. No.103
QBID:15201003

Ud D
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M F M F M [F M [F M F
2016 220 |165 315 [210 225 |155 [280 |205 235 [105
2017 330 210 H20 310 [345 165 K20 [315 [390 [260
2018 230 190 [370 [240 [240 |140 Me> [365 M35 (325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 390 [320 [530 260 [390 [315 (720 (510 [590 [460
2021 H10 260 [320 360 [540 [345 [780 [605 [680 [490

FrafaRad it 39 948y (M) Sﬁ?m%?ﬂ(ﬂEa?ﬂaﬂae‘ﬁﬂwﬁ‘c{mf‘rﬂ%,ﬁ%ﬁﬁmﬂqﬁéﬁﬁmﬁﬂaﬁfzomﬁ
2021 T% U NS W S H YT e | AT & fidba! & TR I Uy H1 3R alivid |

TYdley &1 TR ¢aR fqavo

o A B C D E
| ad M F M F M F M F M F
D016 220 165 P15 210 [P25 155 [280 P05 P35 [105
D017 330 10 B20 [310 [345 165 [420 P15 P90 [260
7018 230 |00 70 |20 [p40 140 [465 365 35 325
2019 180 45 570 [420 [330 P10 [630 170 [45 [290
2020 500 520 P30 [260 [390 P15 [720 [510 [590 |460
D021 110 P60 |20 [360 [540 [345 [780 [605 [680 [490

The approximate percentage decrease in the number of male athletes who participated from Country C in the year 2018 as
compared to the previous year was

1.21%
2.25%
3.30%
4.35%

(Option 1 [32709]) 1
(Option 2 [32710]) 2
(Option 3 [32711]) 3
(Option 4 [32712]) 4

SR ¢ Y YT o dTel N TYciicy & U1 8 TRIGE &1 e T ufa=rd 99 2018 § gddddl gy &1 ga-1 o o |

1. 21 Ufa=rd
2. 25 Uid=Id
3. 30 Ufa=d
4. 35 Ufaerd

(Option 1 [32709]) 1
(Option 2 [32710]) 2
(Option 3 [32711]) 3

(Option 4 [32712]) 4
Answer Given by Candidate : 1

Sl. No.104
QBID:15201004
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M F M F M [F M [F M F
2016 220 |165 315 [210 225 |155 [280 |205 235 [105
2017 330 210 H20 310 [345 165 K20 [315 [390 [260
2018 230 190 [370 [240 [240 |140 Me> [365 M35 (325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 390 [320 [530 260 [390 [315 (720 (510 [590 [460
2021 H10 260 [320 360 [540 [345 [780 [605 [680 [490

FrafaRad it 39 948y (M) Sﬁ?m%?ﬂ(ﬂEa?ﬂaﬂae‘ﬁﬂwﬁ‘c{mf‘rﬂ%,ﬁ%ﬁﬁmﬂqﬁéﬁﬁmﬁﬂaﬁfzomﬁ
2021 T% U NS W e H YT e | AifddT & sfidbo! & TR I Uy &1 3R alivid |

TYTiiey dI GYaR GRIAR [davol

o A B C D E
| ad M F M F M F M F M F
2016 220 165 135 210 |225 155 |280 [205 235 |105
2017 330 210 M20 (310 [345 |(le5> 420 [315 P390 [260
2018 230 |90 P70 [240 [240 140 465 [365 M35 [325
2019 480 245 70 [420 [330 10 630 MT0 M45 [290
2020 590 320 P30 [260 [390 [315 [720 [510 P90 [460
2021 410 260 [320 [360 |340 [345 |780 |[603 680 [|490
The number of female athletes who participated from country E in the year 2020 was % of the total number of

athletes who participated from Country B in the year 2019.

LS o
Lh
o))

4. 46
(Option 1 [32713]) 1
(Option 2 [32714]) 2
(Option 3 [32715]) 3
(Option 4 [32716]) 4

GE Y N 2020 H YT ¢ aTell Afedl Telicy &l S 98 2019 H &2 B H HFT o dld TYdicy &l Hd Sl
Gl gfcr=ra ot |

1
2.56
3

4. 46
(Option 1 [32713]) 1
(Option 2 [32714]) 2
(Option 3 [32715]) 3

(Option 4 [32716]) 4
Answer Given by Candidate : 1

Sl. No.105
QBID:15201005
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The following table shows the distribution of male (M) and female (F) athletes who participated in an Annual Sports Event
from five different countries A-E over the years 2016 to 2021. Based on the data in the table, answer the question.
Year-wise Country-wise Distribution of Athletes.

Countries — A B C D E
lears | M F M F M [F M [F M F
2016 220 |165 315 [210 225 |155 [280 |205 235 [105
2017 330 210 H20 310 [345 165 K20 [315 [390 [260
2018 230 190 [370 [240 [240 |140 Me> [365 M35 (325
2019 M80 (245 70 [420 330 210 1630 [470 M45 1290
2020 390 [320 [530 260 [390 [315 (720 (510 [590 [460
2021 H10 260 [320 360 [540 [345 [780 [605 [680 [490

FrafaRad it 39 948y (M) Sﬁ?m%wmEﬁw%ﬁawﬁamﬁﬂ%ﬁ%ﬁﬁ@auﬁéﬁﬁm-mﬁaﬁfzom@
2021 T% U NS W e H YT e | AifddT & sfidbo! & TR I Uy &1 3R alivid |

Uiy &1 a¥aR GRIAR [JaR0]

o= A B C D E
| ad M F M F M F M F M F
D016 220 165 P15 210 [P25 155 [280 P05 P35 [105
D017 330 10 W20 [310 [345 165 [420 P15 P90 [260
7018 230 |00 70 |20 [p40 140 [465 365 35 325
2019 180 45 [570 [420 [330 P10 [630 170 {45 [290
2020 500 520 P30 [260 [390 P15 [720 [510 [590 |460
D021 110 260 P20 [360 [540 [345 [780 605 680 [490

In the year 2017, the total number of athletes who participated in the event was the second highest from country

LA
B
.D

4.E
(Option 1 [32717]) 1
(Option 2 [32718]) 2
(Option 3 [32719]) 3
(Option 4 [32720]) 4

29 IS H ay 2017 H YT O a7 UYCH &1 da T G @1 SR Y fgciia gaffeys o |

L O

(Option 1 [32717]) 1
(Option 2 [32718]) 2
(Option 3 [32719]) 3
(Option 4 [32720]) 4
Answer Given by Candidate : 4

Sl. No.106
QBID:15201006

The quality of one's memory can generally be judged on the basis of his‘her

. Power of retention

. Analytical ability

. Communication skills

. Mathematical numeracy

L O

ey

(Option 1 [32721]) 1
(Option 2 [32722]) 2
(Option 3 [32723]) 3
(Option 4 [32724]) 4

T4l D1 Wid DI U &l {hdd YR TR bl S Gl g 2

1. UTCeROT &
2. Ta=YUITdS drgdl
3. AN S

4. TOrdRT SeTd Sl
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(Option 1 [32721]) 1
(Option 2 [32722]) 2
(Option 3 [32723]) 3
(Option 4 [32724]) 4
Answer Given by Candidate : 2

Sl. No.107
QBID:15201007

Given below are two statements:
Statement I ; Padlet is a game based platform used in educational institutions to create quizzes, conversations and surveys.

Statement IT : Seasaw is an app-based platform that allows students to work together on texts, PDFs drawings and videos
ete.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I 1s incorrect but Statement II is correct.
(Option 1 [32725]) 1

(Option 2 [32726]) 2

(Option 3 [32727]) 3

(Option 4 [32728]) 4

e sy feuu g:

Eﬁ?ﬂl;ﬁ@ﬁgﬁ&ﬁﬁﬁ@ﬁﬁﬂ%ﬁﬁ,@ﬁ?ﬂﬁﬁ?ﬁ%ﬁ%ﬁ%@ﬂﬂﬁmwﬁm@m freTRd
UH WehHg |

DY 11 : UIT U VY-SR Wi g Sl faenfial of ¢ae, UISiu, 312 3R difsal Safe R ud 91 Sl dv-
BT SHTH Y B E |

SWRIdd B & Hledid H, i ST U [dbedl § 4 G99 ugdd IR &1 94+ HIfIT:
1 HY ISR I GH T8I § |

HHATAR IS AT E |

3. YT 1Tel o, didd dYH I Ad ¢ |

4. BYT 1770d §, AT HYT 1 FeI © |

(Option 1 [32725]) 1
(Option 2 [32726]) 2
(Option 3 [32727]) 3

(Option 4 [32728]) 4
Answer Given by Candidate : 2

Sl. No.108
QBID:15201008

Given below are two statements:

L

e

[

Statement I : Vygotsky emphasized the significant role played by adults and more abled peers in children's learning.

Statement IT The zone of proximal development is the area, where the child solves a problem alone without the help of
others.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

L O

(Option 1 [32729]) 1
(Option 2 [32730]) 2
(Option 3 [32731]) 3
(Option 4 [32732]) 4
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I AT e feu e g:
DY 1 : IRATTES! A Sl b HIUTH § Fon! 3R S ™ (@) Yguriad! & YiHd! IR 9 f&aT |

DY 11 : GHIUR [qHIY BT &7 (SIH) 98 &3 ¢ Forgd B8 Sedl fa41 fhdl 3 &1 Ggidl § fchal ol GHWT &l JHTEH
FHAIE |

SRIcK] B & 3P 4, Hid U U [ddhetl o U 999 30kl IR &1 994 DIl
L. HYF1AR I Ui g |

YT SR I A © |

3. YT 198! 8. Wi HYT NI ¢ |

4. BYT17Tdd 8, AT HYTn Y8l ¢ |

(Option 1 [32729]) 1
(Option 2 [32730]) 2
(Option 3 [32731]) 3
(Option 4 [32732]) 4
Answer Given by Candidate : 1

Sl. No.109
QBID:15201009

According to David and Johnson, which of the following are the basic elements of cooperative learning groups?

o]

A. Self conceptualisation

B. Individual accountability
C. Skill development

D. Positive interdependence
E. Promotive interaction.

Choose the correct answer from the options given below.

1. A, C and D only
. A, BandE only
.B. D and E only
. A, B, D and E only

(Option 1 [32733]) 1
(Option 2 [32734]) 2
(Option 3 [32735]) 3
(Option 4 [32736]) 4

3(aS SR S04 & AR, YgbRI METH THg & Hafdiad § ¥ &4 Ug@ dd ¢ 2

A. WY - YR

B. d4fadd Sdldcel

C. DI [dhr

D. UHRTHSG - AR

E. UIIe® 9dlg
I 16U U fd@edl | U gl 3R &1 99 HIfuIe:

1.%ad A, C 3IRD
2. Hdd A, B3R E
3. $hdd B, D 3R E
4. $ad A, B, D 3R E

(Option 1 [32733]) 1
(Option 2 [32734]) 2
(Option 3 [32735]) 3

(Option 4 [32736]) 4
Answer Given by Candidate : 4

Sl. No.110
QBID:15201010

s o b2
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According to Kohlberg's theory the conventional level of moral development includes the following stages :

A. Obedience orientation

B. Being Nice/Relationships orientation
C. Social contract orientation

D. Law and Order orientation

E. Universal Ethical Principles orientation.

Choose the correct answer from the options given below:

1. A and E only
. C and D only
.B and D only
. B, C and E only
(Option 1 [32737]) 1
(Option 2 [32738]) 2
(Option 3 [32739]) 3
(Option 4 [32740]) 4

dlgaat| & dfdd [dbTd & WIRIT WR Ya¢l fHad & 3aR Mafafad M-8 9Ru 9fifad gid 8 2

[N )

=

A, SRITBIRAT gy

B. 331 g4 / Way HEGTRT

C. grareie dfaer sfufa=ry

D. faf¥ (g SR e sifHfa=arg

E. Qi Hidd (G ddei sifyfa=amg

I 16U U f@edl | U gl 3R &1 994 I

(Option 1 [32737]) 1
(Option 2 [32738]) 2
(Option 3 [32739]) 3
(Option 4 [32740]) 4
Answer Given by Candidate : 4

Sl. No.111
QBID:15201011

The tendency of researchers to subtly and inadvertently affect the behaviours of participants in a study, obscuring the true
effect of the independent variable, is called

. Placebo effect

. Experimenter Bias effect

. The Hawthorne effect

4. Evaluation Apprehension effect

Ud D

(Option 1 [32741]) 1
(Option 2 [32742]) 2
(Option 3 [32743]) 3
(Option 4 [32744]) 4

feb T ererg # s dial &1 YU ¥ 3R raauriaw UfdHITRT & gagR IR UHId STe & Ugfy o™
WA R $ IRAdD YU HH g1 911 6. Hoardl ¢

1. &l YHTg
2. WA dl &1 Ydide UHTd (UauRHeR 9199 Uhde)
3. I UHE
4. g 3MIRIdT YHIG (3dqURH [UUERH Thae)
(Option 1 [32741]) 1
(Option 2 [32742]) 2
(Option 3 [32743]) 3
(Option 4 [32744]) 4
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Answer Given by Candidate : 4

Sl. No.112
QBID:15201012

Arrange the following components of a research paper written in APA style, in correct order

A. Figures

B. Methods

C. Introduction
D. Tables

E. Results.

Choose the correct answer from the options given below.

LS I o I
~6o
W W
> [ o
oo
o

C,B,E.AD
(Option 1 [32745]) 1
(Option 2 [32746]) 2
(Option 3 [32747]) 3
(Option 4 [32748]) 4

TTE it § forvd 71U Tt 2y U & HgifeiRad Yeedh! &l el d § Sgafyd &Y |

4=

i fau e fadedl § 9 Ul 3R &1 994 DifoE:

.C,E.B.D. A
.C.B.E.D. A
C,B,ADE
4.C,B,E.A,D
(Option 1 [32745]) 1
(Option 2 [32746]) 2
(Option 3 [32747]) 3
(Option 4 [32748]) 4
Answer Given by Candidate : 3

Sl. No.113
QBID:15201013

The extent to which a measure yields the same scores across different times, groups of people, or versions of the instrument,
is called:

L O

. Reliability

. Content validity

. Construct validity
4. Predictive validity

L S R

(Option 1 [32749]) 1
(Option 2 [32750]) 2
(Option 3 [32751]) 3
(Option 4 [32752]) 4

ol AT o S{elT- el 95, didh 9Yg, HIY- & UHR ford UIHl db U g1 UIid od ¢, 34 del oiidl &

faygrar
fawgaxg &t qear

AT el

. YT qed
(Option 1 [32749]) 1
(Option 2 [32750]) 2
(Option 3 [32751]) 3
(Option 4 [32752]) 4
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Answer Given by Candidate : 1

Sl. No.114
QBID:15201014

Given below are two statements:

Statement I: Snowball sampling is a type of random sampling.

Statement IT: Snowball sampling is helpful when participants belong to hard-to-reach groups.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

L O R

(Option 1 [32753]) 1
(Option 2 [32754]) 2
(Option 3 [32755]) 3
(Option 4 [32756]) 4

Fd APy e e g:
DY 1 : GiaTd Ud=gH, grefed Uidaad &1 U6 UHR ¢ |
DY 11 : FiETd Uicr=gH 39 R 3 Ygsd gidl g ofd UiaHri U8 gl ¥ S6iid gid § 51 d& Uga-1 Hid-glal g |
SWRIad HY & el H, =i faU T fddhedi § U Y Iugdd IRk &I 9499 HIIg:
L BRI TG g |
YT SR I & TR § |
3. HYA 1951 g, AT YA TAA G |
4. YT 17TAd ¢, AP YT 1 UgI ¢ |

(Option 1 [32753]) 1
(Option 2 [32754]) 2
(Option 3 [32755]) 3
(Option 4 [32756]) 4
Answer Given by Candidate : 3

Sl. No.115
QBID:15201015

In the case of negatively skewed distribution

-2

. Mean < Mode < Median

. Mean = Mode = Median

. Mean = Median = Mode
4. Mean = Median = Mode

(Option 1 [32757]) 1

(Option 2 [32758]) 2

(Option 3 [32759]) 3

(Option 4 [32760]) 4

IHRIAD &4 Y a9 fgaRur & die H

4 - Hifsgw - Al
(Option 1 [32757]) 1

(Option 2 [32758]) 2

(Option 3 [32759]) 3

(Option 4 [32760]) 4

Answer Given by Candidate : 1

Sl. No.116
QBID:15201016

Ud D

L R O R
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One of the cool media of communication Is:

1. Print

2. Television

3. Photograph
4. Radio

(Option 1 [32761]) 1

(Option 2 [32762]) 2

(Option 3 [32763]) 3

(Option 4 [32764]) 4

fafciRad o O Juyr &1 §R (Ho) T HHATE 2

(Option 1 [32761]) 1
(Option 2 [32762]) 2
(Option 3 [32763]) 3
(Option 4 [32764]) 4
Answer Given by Candidate : 2

Sl. No.117
QBID:15201017

In mass communication print is considered as a/an

. Folk medium

. Electronic medium

. Mechanical medium
4. Ordinary medium

L O R

(Option 1 [32765]) 1
(Option 2 [32766]) 2
(Option 3 [32767]) 3
(Option 4 [32768]) 4

SR ¥ e Arery & (g ieiad 3 U foyg $U ¥ SHI Sl g 2
_did "1y

. adelMd HiegH
A& At

4. GIYRU H1eH
(Option 1 [32765]) 1
(Option 2 [32766]) 2
(Option 3 [32767]) 3

(Option 4 [32768]) 4
Answer Given by Candidate : 2

L R O

Sl. No.118
QBID:15201018

Which of the following are the characteristics of interactive communication ?

A Tt is decentralised.

B. It is state controlled.

C. It is highly centralized.

D. It is a two-way communication.
E. It provides universal citizenship.

Choose the correct answer from the options given below:

A, B, Conly
.B.C,D only
.C,D, E only
4. A, D, E only

(Option 1 [32769]) 1
(Option 2 [32770]) 2
(Option 3 [32771]) 3

L O
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(Option 4 [32772]) 4
OIHR GUN & ot feffia s e @i g

A. T8 fabipd giar gl

B. 4g g U gidr gl

C. U8 3G h5idhd ol g |

D. Jg fg-udia Juwu gidr g

E. Ug UIaHITHS ARSI UaH dRdl g

I 16U U f@edl | U gl 3R &1 994 I

. $ad A, B, C
.HddB.C.D
. $adC, D, E
4. AT A, D, E

(Option 1 [32769]) 1
(Option 2 [32770]) 2
(Option 3 [32771]) 3
(Option 4 [32772]) 4
Answer Given by Candidate : 4

Sl. No.119
QBID:15201019

Which of the following make classroom communication interesting?

L e R

A. Many asides while speaking

B. Fruitful discussions

C. Use of relevant transitions

D. Finding out the correct context

E. Pressurising the students with authoritarian comumands.

Choose the correct answer from the options given below:

. A, Band C only
.B. C and D only
.C.D and E only
4. A, D and E only

(Option 1 [32773]) 1
(Option 2 [32774]) 2
(Option 3 [32775]) 3
(Option 4 [32776]) 4

ST U & FEfarad i Y S g SRR ad ¢ 2

A. didd HY 3gdhe fewfur)

B. AIYG™® Idi

C. UTH T HHUI ST UgnT

D. Tl UaH &1 udl avHl

E. HUBRATE! 31C2M & gRI BHEl UR Gdd §4MT

- feu U fadmedl ¥ 9 Uel 3R &1 994 DifolE:

HAdA.B.C
. $ad B.C.D
. HadC, D, E
4. $Ad A, D, E

(Option 1 [32773]) 1
(Option 2 [32774]) 2
(Option 3 [32775]) 3
(Option 4 [32776]) 4
Answer Given by Candidate : 1

Sl. No.120
QBID:15201020

L O R

L R O R
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Given below are two statements:

Statement I: The new technologies have brought in 'Market Specific Communication’'.

Statement IT: The second media age has made the interactive technologies of communication to change the mediascape.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.

. Statement [ is true but Statement II is false.
4, Statement I is false but Statement II is true.

(Option 1 [32777]) 1

(Option 2 [32778]) 2

(Option 3 [32779]) 3

(Option 4 [32780]) 4

- &l dyd fler MU g
DY 1 : I WeNffedl 1 G ARy Quyor 3O fharg |
DY 11 : Tl HifSan g = YUy b 31 fbarcs ettt 9 #ifsar .y H uRad fearg |
SWRIad HY $ el T, - U 7T [gbedi ¥ U H&l IR o1 99 SIfSE:
1. HYT I AR IS HIE |
Y1 IR I GH TG |
3. HYT 1A ¢, Al YT 11 3T ¢ |

L O R

[

4. HUAI3T g, AP FYA I TA © |

(Option 1 [32777]) 1
(Option 2 [32778]) 2
(Option 3 [32779]) 3
(Option 4 [32780]) 4
Answer Given by Candidate : 2

Sl. No.121
QBID:15201021

In a certain coding language :

A. 'odo pado fao' means 'order packed food'
B. 'pado fao sa digo' means 'packed food is good'
C. 'digo yvao mao' means 'good young man'
D. 'Yao mao sa sito' means 'young man is strong’

Which of the following means 'order' and 'strong’, respectively in that language?

.'vao' and 'mao
. 'digo’ and 'mao
. 'pado’ and 'sito’
.'odo' and 'sito’

[ S

I

(Option 1 [32781]) 1
(Option 2 [32782]) 2
(Option 3 [32783]) 3
(Option 4 [32784]) 4
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foh it [Af%d o HeT A -

A 3131 U131 WIS & 1R 3SR U Ba' §

B. UIS! W13l 1 fS71 &1 3124 Uds Bs 39175 §
c. TSI 13fl A1 &1 1= T[S T §

D. 13l {11 7 el &1 A=A A 84 391 €T 8

39 YT H FEfciad 8§ 3§ [6ud! omer HH Sey R T g

gL 3R H3dr
T&aTr 3R T3
(Option 1 [32781]) 1
(Option 2 [32782]) 2
(Option 3 [32783]) 3

(Option 4 [32784]) 4
Answer Given by Candidate : 4

L R

=,

Sl. No.122
QBID:15201022

In a competitive examination held in the year 2000, a total of 6,00,000 (6.0 lakh) students appeared and 40% passed the
examination. Forty percent (40%) of the total students were females and the rest were males. The pass percentage among the
males was 50%. Find the pass percentage among the females.

. 25%
. 30%
. 35%

4. 40%
(Option 1 [32785]) 1
(Option 2 [32786]) 2
(Option 3 [32787]) 3
(Option 4 [32788]) 4

ay 2000 H AT T UTGAT Ui H e 600,000 (6.0 TR @l AT GU 4T 40% faeniial 5 uxien 3ol
(YT BT | et [Tl BT =Ty HieId (40%) Afgard df IR 91! g3 4 | 3Nl & U giH BT Wia=Id 50% o |
afgareit & U gH &1 Ufa=id I ST |

25%
. 30%
. 35%

4. 40%
(Option 1 [32785]) 1
(Option 2 [32786]) 2
(Option 3 [32787]) 3
(Option 4 [32788]) 4
Answer Given by Candidate : 4

Sl. No.123
QBID:15201023

What number should replace question mark (?) in the following series: 450, 473, 519, 588, 680, 795 ?

L e

L O

. 933
950
=138
4. 82
(Option 1 [32789]) 1
(Option 2 [32790]) 2
(Option 3 [32791]) 3
(Option 4 [32792]) 4

L O
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FafaRad @ o S e Uy 9 g (2) DI ufd=iigd sl
450,473, 519, 588, 680, 795, 7

. 933

. 950

. 138

.82

(Option 1 [32789]) 1
(Option 2 [32790]) 2
(Option 3 [32791]) 3
(Option 4 [32792]) 4
Answer Given by Candidate : 1

Sl. No.124
QBID:15201024

A businessman buys a house for ¥ 9.0 lakhs. He puts the house on rent and keeps 15% of each month's rent separately for

L O

I~

repairs. After paying ¥ 2106 as annual taxes on the rent. he realizes 10% annually on his investment. Find the monthly rent
of the house.

T 10,000
¥ 9,080
T 9,030

4, ¥ 9,500
(Option 1 [32793]) 1
(Option 2 [32794]) 2
(Option 3 [32795]) 3
(Option 4 [32796]) 4

Uh YR 2 9.0 ARG § Uh BR WRladl ¢ | 98 91 Dl fhd IR & ol 8 3R YD HIE & fhe’ Bl 15% LRI AR
& 7T 31T A1 ¢ | TRl R aities X o =4 H 2 2,106 3161 B o YHTd, 34 34U a2 W dIiitid 10% DI UM
gidl § | TR &1 Hiiyd famrdn J1d P |

¥ 10,000
T 9.080
¥ 9.030

4, ¥ 9,500
(Option 1 [32793]) 1
(Option 2 [32794]) 2
(Option 3 [32795]) 3
(Option 4 [32796]) 4
Answer Given by Candidate : 3

Sl. No.125
QBID:15201025

Sum of 3 consecutive odd numbers and 3 consecutive even numbers together is 231. Also the smallest odd number is 11 less
than the smallest even number. What is the sum of the largest odd number and the largest even number?

L R

L e R

.81
73
i)

4.79
(Option 1 [32797]) 1
(Option 2 [32798]) 2
(Option 3 [32799]) 3
(Option 4 [32800]) 4

afe; 3 AT GuH SRSl T 3 HANTT FHECNS BT 17 U G1Y AT 231 § 3R G 31 faun deom ey
BT GHURTY 11 HH S | A Gay do! favd =1 3R Gy do YHIBAT & Ui {dd-1 g 2

81
73
N iF
4: 79
(Option 1 [32797]) 1
(Option 2 [32798]) 2

L O R

L O R
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(Option 3 [32799]) 3
(Option 4 [32800]) 4
Answer Given by Candidate : 4

Sl. No.126
QBID:15201026

"First it is staying out late, then it is not calling home, then wild parties, and before you know it, your life will be completely
out of control. Someday you will be glad that you had a lockdown." Which informal fallacy is committed in the above
argument?

1. Red herring

2. Slippery slope

3. Strawman

. Appeal to authority

=

(Option 1 [32801]) 1
(Option 2 [32802]) 2
(Option 3 [32803]) 3
(Option 4 [32804]) 4

"JIYYH R A a6 X1, T IR IR Gfeld = BT, 3R R RS il & 21fire g1 3R 5 dob 319 38 90
1, WW@%@@IW&TW@W | Tl 16 =Y o g1 Tdh Sy e s | & |» SWRIad gfad | &1
T 3AIBIRD dbaly g 2

1. 33 g

2. T agad gaH (ReuR i)
3. el (TE)

4. UIYPR 38

(Option 1 [32801]) 1
(Option 2 [32802]) 2
(Option 3 [32803]) 3
(Option 4 [32804]) 4
Answer Given by Candidate : 4

Sl. No.127
QBID:15201027

Which of the following statements are logically equivalent?

. No philosophers are industrialists.

. No industrialists are philosophers.

. All non-industrialists are non-philosophers.
. All philosophers are non-industrialists.

Cnww

Choose the most appropriate answer from the options given below:

. A, Band C only
. A, B and D only
. A, Cand D only
.B. C and D only
(Option 1 [32805]) 1
(Option 2 [32806]) 2
(Option 3 [32807]) 3
(Option 4 [32808]) 4

fafaRad 8 9 &9 9 Sy difdd ¥0 9 99ded ¢ 2

A oI5 H RIS Safa a8 g |
B. B3 Y Ieufa arife 78 g |
c. 9l TR-IEANUfd IRGRIMAS ¢ |
D. 9Yi gRIF® TR-IARYT E |

i e T faded! ® ¥ el SUgdd 3wk bl 90 BT

1.Had A, B3R C
2. BAd A, B AR D
3. Had A, C 3R D
4. %ad B, C 3R D
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(Option 1 [32805]) 1
(Option 2 [32806]) 2
(Option 3 [32807]) 3
(Option 4 [32808]) 4
Answer Given by Candidate : 4

Sl. No.128
QBID:15201028

Which of the following statements are logically contradictory to each other?

A. All philosophers are industrialists.
B. Some philosophers are not industrialists.
C. No philosophers are industrialists.
D. No industrialists are philosophers.

Choose the most appropriate answer from the options given below:

1. A and B only

2. A, C and D only

3. Aand C only

4. C and D only
(Option 1 [32809]) 1
(Option 2 [32810]) 2
(Option 3 [32811]) 3
(Option 4 [32812]) 4

FafaRad & 9 & 9 Y- difdd ¥U U Udh-gaR & ArdNdl g 2

A. 94l GRS IgIaia gl

B. $9 aRIH® IUNMld g1 ¢
C. @iz Yl arRiF® Il 8 gl
D. ®ls i IENUid aRiFAS 981 81

i e T faded! ® ¥ el SUgdd 3wk bl 90 BT

1. %ad A 3R B
.%ad A, C 3R D
Pad AR C
4. %ad C AR D

(Option 1 [32809]) 1
(Option 2 [32810]) 2
(Option 3 [32811]) 3
(Option 4 [32812]) 4
Answer Given by Candidate : 3

LS R S

Sl. No.129
QBID:15201029

If the statement 'No philosophers are industrialists' is given as true which of the following statements can be immediately
inferred from it to be true?

. No philosophers are rich persons.

. All industrialists are philosophers.

. Some philosophers are industrialists.

4. Some philosophers are not industrialists.

L O R

(Option 1 [32813]) 1
(Option 2 [32814]) 2
(Option 3 [32815]) 3
(Option 4 [32816]) 4

e ug HyA Dl Hi RIS I T8 o I & $U H 601 711 g df Fafaiad # U (6" &y & 98l gH &
dleblieid ©0 U U fbal ST Yhdl g 2

. Pis Yl SIS ol Al T8I § |
. SN aRiFS § |

. $S aRIFD YU ¢ |

DO RIS STRId TSI & |
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(Option 1 [32813]) 1
(Option 2 [32814]) 2
(Option 3 [32815]) 3
(Option 4 [32816]) 4
Answer Given by Candidate : 4

Sl. No.130
QBID:15201030

According to Nyaya (Classical Indian school of Logic) which means of knowledge (pramana) is used in the following
argument - "The world is an effect and hence it must have an efficient cause like all objects e.g. pots, cloth etc. do. That
efficient cause is God".

. Postulation (arthapatti)

. Inference (anumana)

. Comparison (Upamana)

4. Verbal Testimony (S abda)

(Option 1 [32817]) 1
(Option 2 [32818]) 2
(Option 3 [32819]) 3
(Option 4 [32820]) 4

HRATT YRATG A10d & 38R FafaRad gfad o S 91 7 &1 9re (TH107) W § - "fay U uyiE 8 3R g9iay
2qHT G 1l Bl g U BIU-&H HRS oI Ay, O 9, HUS G HIBIdI ¢ | 98 DRI-&H HRB 4R g |"

- 3yfufy

SIHA
SUHMA

4. g

(Option 1 [32817]) 1
(Option 2 [32818]) 2
(Option 3 [32819]) 3

(Option 4 [32820]) 4
Answer Given by Candidate : 3

Sl. No.131
QBID:15201031

Which one of the following acronyms matches incorrectly with their full form ?

L

L e R

. ATM - Automatic Teller Machine

. SIM - Subscriber Identity Module

. GPS - Global Positioning Sensor

. GIS - Geographic Information System

L N R

e

(Option 1 [32821]) 1
(Option 2 [32822]) 2
(Option 3 [32823]) 3
(Option 4 [32824]) 4

fofarad & ¥ &H W uikaof e 396 W FY (M) & T T eI qARa T8l ¢ 2

. UALud. - 3ffeHled der HRiH

. UH.3{TS.UH. - GoqehlgaR JIgsfd Uisyd
ol 410y, - Telide gifer=i=n 9=

I 3115.09. - [Seimnfthd Sh e Ren

(Option 1 [32821]) 1
(Option 2 [32822]) 2
(Option 3 [32823]) 3

(Option 4 [32824]) 4
Answer Given by Candidate : 2

L

Y

Sl. No.132
QBID:15201032
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Identify the correct order of the following terms A-E to complete the paragraph given below that explains how data is sent
securely over the Internet using the Transport Layer Security (TLS) protocol:

'"The browser requests the to identify itself by providing its . This is sent and a check is performed to see if it is
JIfitis, the sends a back to the web server and data transmission begins.'

. authentic

. browser

. certificate
. signal

. web server

Mo mw ‘

Choose the correct answer from the options given below:

2B DALE
B G A B.D
LOLCABE

4.B,C,AE,D
(Option 1 [32825]) 1
(Option 2 [32826]) 2
(Option 3 [32827]) 3
(Option 4 [32828]) 4

A1 fqu 70 TRATE &1 91 63 & foiu FEfaRad A-E Ul & g1 b S UgdH S, Sl I8 oURAT Hdl ¢ fb
TIUIe daR [HaIRe (¢1.0d.UH.) Uieidid dl Se3-e IR Ygad ®Rd gU by WRIE diid § ST (Gd) Hol Sild ¢ 2

SI3oR EAREE DR U TR B U B DI SR DA g | THDI WS SIA1 g 3R U i Bl
gﬁ?ﬁ‘%%w ¢ lafcuagdl &7 dd FaR DI 19y Udl g 3R Sel URYUI YR Bl Sl

-

A. IS

B. SII39R

C. JHTITIH

D. faad

E. 99 R

1 fGu U fadhed! | T Tl SR &1 98- BHifort:

A B DY, A
.E.C,A,B.D
s D MR H
4.B,C,AE,D
(Option 1 [32825]) 1
(Option 2 [32826]) 2
(Option 3 [32827]) 3
(Option 4 [32828]) 4
Answer Given by Candidate : 2

Sl. No.133
QBID:15201033

Given below are two statements:

LUVR o ]

[ N

Statement I ; Al is an artificially created environment used to give a feeling of 'being there', whereas virtual reality learns
from changing circumstances.

Statement IT : Unlike dot matrix and inkjet printers, laser printers don't use ink when producing documents.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4, Statement I is false but Statement II is true.

(Option 1 [32829]) 1

(Option 2 [32830]) 2

(Option 3 [32831]) 3
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(Option 4 [32832]) 4

A el Hy fldu U g:

DYT1: T3S, ol g B YA TS B & 17U $EH U Y AfHd U dId1ar 3, Safd SHRS gureidr deeddl
giRfRifaal O e i g |

DY 11 : doR et exdidell & Sid & T @igl (36) &1 SN g HRd, Sdid 3i¢ Afcay Ud Sdbvic ftied @rgl
DI IYANTHAG |

SWRIad HYA & ATdl® H, A ST U f[ddhedl H U Ug! 3R &l 994 Il
1. HY IR IGH 9T g |
CHY ISR I GH A ¢ |

3. U1 g, AP YT 11 3T § |

-2

4. BYT1FIZ, AT PYT NI G |
(Option 1 [32829]) 1
(Option 2 [32830]) 2
(Option 3 [32831]) 3
(Option 4 [32832]) 4
Answer Given by Candidate : 1

Sl. No.134
QBID:15201034

Which of the following are the main benefits of networking computers and devices rather than using a number of stand-
alone computers ?

A. Devices, such as printers, can be shared, thus reducing costs.

B. Licences to run software on networks are often far cheaper than buying licenses for an equivalent number of stand-
alone computers.

C. Users cannot share files and data.

D. Access to reliable data that comes from a central source, such as a file server.

Choose the correct answer from the options given below:

. Aand C only
. B, C and D only
.A.B,Cand D
4. A, B and D only
(Option 1 [32833]) 1
(Option 2 [32834]) 2
(Option 3 [32835]) 3
(Option 4 [32836]) 4

W&m%(@%’-ﬂﬁﬁ)fﬁmgﬁémﬂﬁh B B a1 H Hedlh T HrgeR| 3R ISR o (Hafaiad § 9 oY
A AHE 2

A T ST IuaRT &1 Tren a1 o Ul &, Forgy anTd &1 3l & |

B. I SR B Udh YA Y& & ol ci2d 9l & g &l Il § Aedady IR G diR &l Ia- & disyy Ud:
YD GBI g |

C. IUANHdl BIEe 3R S (&) DI I gl B U |

D. fdl BT3d Hek ol U dogi 19 |id 9 3 dlel [a%9-19 Sel (ad) d Ugd |

1 fGu U fadet! | T Il STR &1 98- BHifort:

1. had A 3R C
2. HIAB, C IR D
3.A.B,C3RD
4. $dd A, B 3R D

(Option 1 [32833]) 1

(Option 2 [32834]) 2

(Option 3 [32835]) 3
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(Option 4 [32836]) 4
Answer Given by Candidate : 2

Sl. No.135
QBID:15201035

Match List I with List IT

LISTI g
Camipisee Baiv) LIST II (Description)
A [Dizk I Utility that prepares a disk to allow data/files to

defragmentor be stored and retrieved.

B. [Disk formatter | I |Storage media with no moving parts.

Utility that reorganises the sectors on a hard disk
C. [Device driver III. |so that files can be stored in contiguous data
blocks.

Software that communicates with OS and

D. |Solid state drive | IV |translates data into a format understood by the
device.

Choose the correct answer from the options given below:

. A-Il, B-1, C-III, D-IV
. A-IL B-1, C-IV, D-II
. A-I, B-III, C-II, D-IV
. A-IV, B-11, C-1, D-IIT
(Option 1 [32837]) 1
(Option 2 [32838]) 2
(Option 3 [32839]) 3
(Option 4 [32840]) 4

el 11 gl 11 ¥ e sifoe

T T
(TR U9 @oF)
BRG] (%E%ﬁg‘cﬁ)ﬁm%w&ﬁ?

g & o SermRa

A. 5% fEpHe | L S o & S8y H o 5w
TOR FId & |
&1 TTaEH SFE (UTeE) & 9
B. 53 BHX IL |
dummd%a’fwag_?ﬂ?%ﬁﬁ
‘ (et B JgaH .
C. [ gRR [H'warﬂﬁwdﬁéa@cﬁqﬁﬁ
el fpor s g s |
TiteagR, off 31109, & 91y 9Em

[ O R

Y

p [fRE®e [ [#X1E IR S &I FSagw
NS gﬂﬁiwwqﬁﬁ?ﬂ’aﬁﬂ\ LGl
!

T feu U fasmed! § 9§ Uel 3tk &1 99+ DIfor -

. A-IL B-1, C-II1, D-IV

AL B-1, C-IV, D-1I

. A-L B-III, C-II, D-IV
4. A-IV, B-I1, C-I. D-III

(Option 1 [32837]) 1

(Option 2 [32838]) 2

(Option 3 [32839]) 3

(Option 4 [32840]) 4
Answer Given by Candidate : 3

Sl. No.136
QBID:15201036
2

Which of the following is measured in Dobson Units?

L e

. Chloro Fluoro Carbon (CEC)
. Stratospheric Ozone
. Ultraviolet Rays
4, Solar Radiation
(Option 1 [32841]) 1
(Option 2 [32842]) 2

L N
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(Option 3 [32843]) 3
(Option 4 [32844]) 4

fafaRad ¥ ¥ f&9d 7194 3 3dbls Slay- g 2

1. FARI UIRT HTe- (Hum))
2. GHAY H3dig AN

3. QRIS fhrof

. gR fafbrur

(Option 1 [32841]) 1

(Option 2 [32842]) 2

(Option 3 [32843]) 3

(Option 4 [32844]) 4

Answer Given by Candidate : 4

Sl. No.137
QBID:15201037

Photo Electro Chemical (PEC) solar cells are based on

Y

. Only inorganic semiconductors

. Only organic semiconductors

. Only crystal silicon semiconductor

4. Hybrid structure of inorganic semiconductors and an electrolyte

[ N

(Option 1 [32845]) 1
(Option 2 [32846]) 2
(Option 3 [32847]) 3
(Option 4 [32848]) 4

Bicl Ieidel dhifmd (U1.3.dl) IR Ued [y W ARd g 2

1. Had AFHE G AdAad (HHFaIR)

2. Bhad DleHG A

3. dhad [dhed [idd i s

. HBEHD HfAAD] 3R U Sciaeidize Bl Yb T

(Option 1 [32845]) 1
(Option 2 [32846]) 2
(Option 3 [32847]) 3
(Option 4 [32848]) 4
Answer Given by Candidate : 3

Sl. No.138
QBID:15201038

Match List I with List IT

A

LISTI LISTII
(Summit/Protocol) (Year)
A. PMMentreal Protocol I. [1992
B. |Rio Summit IT. 2015
C. [Kvoto Protocol II1. 1987
D |Paris Agreement IV |1997

Choose the correct answer from the options given below:

. A-IIL B-1, C-IV, D-1I

. A-IIL B-1, C-II, D-IV

. A-L B-III, C-II, D-IV
4. A-IV, B-11, C-1, D-III

(Option 1 [32849]) 1

(Option 2 [32850]) 2

(Option 3 [32851]) 3

(Option 4 [32852]) 4

Ud D
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el 11 gl 11 Y e sifee

T =
(FirE guiee / uieere) @
A [ifegd Uieidid I |1992
B. [xal AraR 9= 1. po1s
C. [l Hieidld 1L [1987
D [ORg gaaitdr TV [1997

i feu U fasmet! § 9§ Uel 3wk &1 99 Diforu

1. A-ITT, B-1, C-IV, D-1I
2. A-IM, B-1, C-II, D-IV
3. A-L, B-III, C-II, D-IV
4. A-IV, B-11, C-I, D-TII

(Option 1 [32849]) 1

(Option 2 [32850]) 2

(Option 3 [32851]) 3

(Option 4 [32852]) 4

Answer Given by Candidate : 2

Sl. No.139
QBID:15201039

Thermal expansion of oceans may lead to

1. Global warming

2. Ozone depletion

3. Melting of glaciers

4. Sea level rise
(Option 1 [32853]) 1
(Option 2 [32854]) 2
(Option 3 [32855]) 3
(Option 4 [32856]) 4

g & a1 YR 9 g1 Ydbhdl/ ghdl g |

. 3% A
3 2fae™
Tew Afear (afIrRh &1 fgeHn

4. % TR A I

(Option 1 [32853]) 1
(Option 2 [32854]) 2
(Option 3 [32855]) 3
(Option 4 [32856]) 4
Answer Given by Candidate : 1

Sl. No.140
QBID:15201040

‘Waste stabilization ponds are:

L R R

A. Mainly oxidation ponds

B. Used to remove pathogen and organic contents
C. Natural treatment systems

D. Extremely quick

E. Most efficient in extremely cold weather.

Choose the correct answer from the options given below:

I. A, B and C only
2.B, C and D only
3. A, BandE only
4. C,D and E only

(Option 1 [32857]) 1
(Option 2 [32858]) 2
(Option 3 [32859]) 3
(Option 4 [32860]) 4
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URIY YRR $S ¢ -
A. T ST S
B. WW@@HW@ gel o Wi fdb g1 §rdr §
C. Wipfcds Qe oA

D. YD gd
E. e 2 HiH § Taiids el

I 16U U fg@edl | U gl 3R &1 994 HIoIe:

Fad A, B3R C
.$ad B, C 3R D
$dd A, B 3R E
4. HAAC, D IARE

(Option 1 [32857]) 1
(Option 2 [32858]) 2
(Option 3 [32859]) 3
(Option 4 [32860]) 4
Answer Given by Candidate : 3

L S R

Sl. No.141
QBID:15201041

Given below are two statements:
Statement-I: The Governor of the State is the Chancellor of deemed universities.
Statement-II: Deemed universities can design their own syllabus and course work.
In the light of the above statements, choose the correct answer from the options given below:
Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
Statement I is true but Statement IT 1s false.
4. Statement I is false but Statement II is true.
(Option 1 [32861]) 1
(Option 2 [32862]) 2

(Option 3 [32863]) 3
(Option 4 [32864]) 4

A4 el dy fgu U g:
DY 1 : AT DI AT T (SiFs) Tayfaeiieral &1 Hemieafd grars |
DY 11 - T [IYITeIerd 30 T & UIeash? Ud B deb DI DT HL Thd © |
SWRIad HYA & Ad® H, - ST U f[ddhedl § U Ug1 3R &l 994 Sl
L HYFI1NR 1A Id ¢ |
HYA 1SR maH A |

3. HYT 1A g, AP YT 11 3T G |

L O R

-2

4. DYTI1 AT G, AipT PUT I A |

(Option 1 [32861]) 1
(Option 2 [32862]) 2
(Option 3 [32863]) 3
(Option 4 [32864]) 4
Answer Given by Candidate : 4

Sl. No.142
QBID:15201042
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What is the full form of ' DIKSHA'"?

. Digital Infrastructure for Knowledge Sharing
. District Institute for Knowledge Sharing

. Data Information and Knowledge Sharing

4. Digital Institution for Knowledge Sharing

L

(Option 1 [32865]) 1
(Option 2 [32866]) 2
(Option 3 [32867]) 3
(Option 4 [32868]) 4

ST T U FY R1G 2

1. TSToTed SIpREER BR Al IR
2. fefeae 3teye Bk Alds 2T
3. S1e1 SABIHRA UUS Hleisl QAR
(Option 1 [32865]) 1

(Option 2 [32866]) 2

(Option 3 [32867]) 3

(Option 4 [32868]) 4

Answer Given by Candidate : 1

Sl. No.143
QBID:15201043

Which of the following are the key ingredients of quality in-service teacher training?

I

A. Preparation of training material

B. Assessment of training needs

C. Development of appropriate curriculum/Modules

D. Assessment of the impact and outcome of the training.

Choose the most appropriate answer from the options given below:

1. Aand D only

2. B and C only

3. A, CandD only

4, A,B,CandD
(Option 1 [32869]) 1
(Option 2 [32870]) 2
(Option 3 [32871]) 3
(Option 4 [32872]) 4

YaRd Rgfd WRIEO S T0Ma & WG 9 Hafiad Y SH IS 2

A. TTRIE(OT ST AR BT

B. UTIE0T STTRGD 1] BT Hedid Bl

C. FUGeR] UTaad / Arsded fddbierd Al

D. UIRI&01 & WHTG Td GRUMH b1 Yol A1

14 feu U foded! o ¥ Tad UG IR &I 9849 DI

1. $ad A 3RD
. Had B 3R C
.$ad A, C 3R D
A.B,C3RD

(Option 1 [32869]) 1
(Option 2 [32870]) 2
(Option 3 [32871]) 3
(Option 4 [32872]) 4
Answer Given by Candidate : 4

Sl. No.144
QBID:15201044

LIS T ]

4=
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According to NEP 2020 more HEIs shall be established and developed in underserved regions to ensure full

1. Access, Equity and Inclusion

2. Accountability, Equality and Integration
3. Assessment. Equivalence and Identity

4. Autonomy, Effectiveness and Implication

(Option 1 [32873]) 1
(Option 2 [32874]) 2
(Option 3 [32875]) 3
(Option 4 [32876]) 4

TS U1 2020 B 3FER, 37ed a1 U &1 § FHfaRad © 9 {69 qul 0 U H1Yd o & (o0 3ifés 3= e G=iH=l
(TS 318 DI RITYAT U9 faH R faoan SR

. AT, W[awcn@lﬂww
. ITRGIAd, JHHT 3R THIH

 He i, Wahwszrﬁ
4, WO, UHTTaaT 3R Ffgard

(Option 1 [32873]) 1
(Option 2 [32874]) 2
(Option 3 [32875]) 3
(Option 4 [32876]) 4
Answer Given by Candidate : 2

Sl. No.145
QBID:15201045

Which of the following recommendations were put forward by University Education Commission appointed after
independence by the Indian Government concerning medical education in India?

LuPJ—

A. Medical colleges should admit a maximum number of hundred students.

B. History of medicine with special reference to Indian systems should be taught in the first degree course in medicine.
C. More importance should be attached to Public health, Engineering and Nursing.

D. There should be provision of ten beds per student admitted in the medical college.

Choose the correct answer from the options given below:

. Aand B only
B and C only
.B. C and D only
4. A B.CandD
(Option 1 [32877]) 1
(Option 2 [32878]) 2
(Option 3 [32879]) 3
(Option 4 [32880]) 4

YR WHR gRI IaAdl b YHId HRd § S fayiaererd fRign S gri i Rien 9 d«fid gfaunfed s
fafiRad § 9 o 9t ot 2

A TfeHd diddll S ADHaH Tl [denfial & yd2 ¢A1 41U |

B. 4RI UGfa & fa=iy deu o siuie &1 3fagry i & uyd fS3 ureusd | gl SiHT diigu |
C. S W, ST $iR AR & 1Y dedr ol 91ieu |

D. Afedhd Dicis § Fa2 fou ufd faeneif iR a9 2 &1 Uy gi-1 91U |

=1 feu e fased! | T gl IR &1 98 Bifore:

L N

(Option 1 [32877]) 1
(Option 2 [32878]) 2
(Option 3 [32879]) 3

(Option 4 [32880]) 4
Answer Given by Candidate : 4
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Sl. No.146
QBID:15201046 )
Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would eperate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees: for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional §-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FrafaRad Tei= &1 ufed SR Uy &1 IR aifol |

¢ fariY 3R 9H-TRI & 341 ardTarvl | TRl = urfies e e &1 ay 1910 H Udd fbar | 3gi- 39 39 IEl &
Ugd R0 &I U SIel (a4 UGN Sardl Sl el 3R S 81 gi7ll, ug Tfe SHar &l adqH T I 318, dl 39
AT I TG BT GG I

TRgd < b f&an Mo SR Siard R fobd S arel 9ef Suril & ugedl SUr ¢ ifAarddr & fo-r fusd o aui d
21801 &1 9T RIS 0 U A1 381 8 | GHA1 Bl I8 Udl ol 711 g fob Tt o= o et o feru fRren gi+iaa &
& AU UHHE 3U™ 39 e/l duT (e a1 § | afe 39 Ml g1 S-mam 71, |l dhad SHard 9 o 9
TRId ddeh] U= F5gRagd e GaTd STell S |

Iei+ g e & o 34 faenfiar &I, fo-d uRaR 31 d1f¥d o 25 30 SR 9 U6 ¢, Yeb BT YITdH

B3I 18T 1! faenidal & ferw fRien F:eb oI+l 91fgT | 39 U 2Uféid o gy &1 Gl-fdgrs YN I gRI aUl

Uoh-fagls U RIFH Faml gR1 g+ fhar SiH1 91ige | 3wl gid a1 o e W SfaRed 8- &1 sfdivad &

ﬁmmmﬁﬂmﬂdw F11gT foh "GN SREM & Hb W) b Jard diids 3d dad SR dul DR T 9
III

According to Gokhale, what percentage of the total expenditure on education should be borne by the state?

1.~25%
2:~33%
3.~66%
4. ~75%

(Option 1 [32881]) 1
(Option 2 [32882]) 2
(Option 3 [32883]) 3
(Option 4 [32884]) 4

TRl & TR oY B! A& TR 81 aTcl ol Y D1 fohed=11 Ul=Id ag- BT d1igu 2

1.~25%
2.~33%
3.~ 66%
4. ~T75%

(Option 1 [32881]) 1
(Option 2 [32882]) 2
(Option 3 [32883]) 3

(Option 4 [32884]) 4
Answer Given by Candidate : 3

Sl. No.147
QBID:15201047
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Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees; for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional 8-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FrafaRad Tei= &I ufed SR Uy &1 IR aifel |

¢ Ty 3R 98-8 & 241 ardraRul | TRael 9 Uiyt e [9ege o1 9y 1010 § UXdd fban | 35l 38 39 U6l &
Ugd @RI ] Udh BIc] fa49 Uy adrdn ol el iR ®id- g1 girit, tid gie S-d1 &I adur fifd ¥ IsA1 ¢, dl g9
AT I 7 HATGI I I

TRgd A dd e Mo oIk sifard fRien {6 S ard 9eft Surl § gl 3ur & SHarddl & fadr s 60 auf o
2181 1 fAbY FARIATSHS =0 Y ¢iH1 381 8 | g1 Bl g8 udr o 71 g o fohdl o o 9t & forw g gfaiaa o
& AU UBHE SU 39 Hfard 9yl (e a1 § | afe 39 Mo g1 S1am T, |l dad e 9 o 9
TRId ddeh] UR [5gRdIgd e gaTd STell S |

e+ Y3 e & o 34 faenfdat &1, foFe aRaR 31 7ii¥d oM 25 I0 3R WY &6 8, Yeb BT YITdH

B3I g 1! faenfdfal o feru fRien F:eb gi-il 91fgy | 39 U ofuféid ol o0 &1 &l-fdgrs YN I gRI aUl

Ueh-fags UIT R Faml gR1 g favan SiH1 91ige | 3-si- g2id &1 b e W SifaRed 8- &1 sfdivad &

ﬁmmwmwaﬂ%ﬁﬁwsﬂﬁmmwwmwﬁﬁwéiﬁmw 3R |
III

Given below are two statements:

Statement-I: Gokhale believed that education was necessary for the Indian masses to be liberated from their miserable
condition.

Statement-TI: Gokhale faced little resistance in the introduction of his bill on elementary education.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

Ud D

(Option 1 [32885]) 1
(Option 2 [32886]) 2
(Option 3 [32887]) 3
(Option 4 [32888]) 4

T e sy feuug:
DY 1 : RGBT U THAT YT 16 YR B ST DI SHAD] GF-14 =11 Y Tferd o Te1T & Sagd g |
DY 11 : WU TR Feieh fa8ae Tgd B H 7TRadl Bl 9gd DHH [aRIY BT Gl H-1 G |
SWRIad S & Hdid 4, i U U [ddhedi § U 998 Iugdd IR 1 999 DIl
. HYTIR I 9 g |
YT 1R TG TTed § |
3. HYA 1931 g, b YA A T |
4. YT 17TAd 8, AT HYT 1 Gl ¢ |
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(Option 1 [32885]) 1
(Option 2 [32886]) 2
(Option 3 [32887]) 3
(Option 4 [32888]) 4
Answer Given by Candidate : 3

Sl. No.148
QBID:15201048 )
Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees: for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional §-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.

FHTARIT TTeIi=1 DI ufed 3R Uy &1 3w alfol |

¢ fariY 3R 9H-TR & 341 ardrarvl | 7RGl = urfees e faeae &1 ay 1910 H Udd fbar | 3gi- 39 S Il &
Ugd IR01 &I U BIcT 197 TR Sardl Sl el 3R S g1 7l T Tie Sl &I 49 I Y I8, a1 29
AT I TG BT g1 g I

TRge A b f&an Mo IR Siard R fovd S arel 9eft Surl & ugell Sur § sifAarddr & fodr fusd o aui o
21801 &1 9Ty RIS 0 U A1 381 8 | GMHA1 Bl g8 Udl ol 711 g o Tl o= o 9t o feru fRren gi-iaa o
& U UHTH SUM™ U 3Hard qUT (e ST ¢ | 3G 39 e 81 S911 A1, Ol $had HHad 9910 9H
TRId ddehi U= [ 5gdgde GaTd STell S |

5l g fear & daa 34 faenfiar &I, fod aRaR 31 d1f¥d oM 25 30 SR 9Y U6 ¢, Yeb bl YITdH

AT dIigU; S1d! faenidal & ferw e F:xedb gi-l 91figy | 39 [oU SUTSd d oag &I l-[dgls U I gRI adl

U fdeTs YT R Fd[l gR1 dg faan o1 91ieU | 3gi- Yo e i 7He W ifaiad s-3H &1 sifafad &

ﬁﬁvﬂ?ﬂ?mﬁw&ﬂldl F11gT fob "GN <RGNl & THS W) S gard difds 3d dad SR dul bR F 9
III

Which of the following can be inferred from the passage?

A. The growth of education in India was very slow prior to 1910.

B. There was a need to make education compulsory for all according to Gokhale.

C. Gokhale believed that achieving education for all Indians was a distant dream.

D. Gokhale suggested that majority of expenditure for education should be met by local bodies.

Choose the correct answer from the options given below:

l. A, Band C only
2.B. C and D only
3. A, B and D ouly
4. A, C and D only

(Option 1 [32889]) 1
(Option 2 [32890]) 2
(Option 3 [32891]) 3
(Option 4 [32892]) 4
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Y TR Y FRfaRad # U - iy T off 9dd § 2

A. Y 1910 & Ugd YR H &1 &1 fahry agd He T |

B. 7RG & 3TUR Tl o fe1u fug s(iard & &1 siiaxgahi 4t |

C. TRad T AT 4T fob G YRl & Teiu fRu&m 1 Uit & 1 9o 7 |

D. Tl 4 Y14 f&a fdb [Rien & feu sidsie o RiHE Har@l gR1 98 fdbdr S 9nigu |

1 feu U fadet! | T Il SR &1 98- BHifort:

1.Had A, B3R C
2. $add B, C 3R D
3. Had A, B AR D
4. %dd A, C 3R D

(Option 1 [32889]) 1
(Option 2 [32890]) 2
(Option 3 [32891]) 3
(Option 4 [32892]) 4
Answer Given by Candidate : 3

Sl. No.149
QBID:15201049

Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would aperate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees; for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional §-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.
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Given below are two statements:

Statement-I: Gokhale believed that education should be made free for the poor people.

Statement-II: Gokhale suggested that an additional tax of 8-anna should be imposed on salt.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct.

(Option 1 [32893]) 1

(Option 2 [32894]) 2

(Option 3 [32895]) 3

(Option 4 [32896]) 4

B IEEC IR AR

SYH 1 : TTRAd BT HHAT U1 b TRI 1Tl Bl fere e fF:=eb &1 ST <1igu |

DY 11 : RIS A Y19 a1 b 707 WR 8 -3 &1 HfctRerd 6 o mdn S diig |

SWRIdd B & 3Hiddid H, i ST U [dbedl § Y G99 Jugdd Itk &1 99 HIfIT:
L. PYIAR I EH T g |

YT 1R T GHI TR g |

3. HYT 1G5, AT HUT n T G |

4. DY 170 g, b1 SYT I T § |

(Option 1 [32893]) 1
(Option 2 [32894]) 2
(Option 3 [32895]) 3

(Option 4 [32896]) 4
Answer Given by Candidate : 1

Sl. No.150
QBID:15201050
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Read the following passage and answer the question.

It was in this atmosphere of intense antagonism and hostility that Gokhale introduced his Elementary Education Bill in
1910. He called it 'a small humble attempt to suggest the first steps of a journey, which is bound to prove long and tedious,
but which must be performed. if the mass of our people are to emerge from their present condition'. Gokhale argued :

Free and compulsory education is the first remedy of all the remedies to be applied...without compulsion the educational
developments in the last 60 years have been hopelessly slow. The only way that the world has discovered to secure universal
education in a country has been by making it compulsory and free. Compulsion would operate harshly on the poorer classes
of the community if it is not made free.

He suggested that only those students whose family income was 25 rupees and above per month should pay fees; for the
rest, education was to be free. Out of the total expenditure required for it, two-thirds should be borne by the state and one-
third by the local bodies. He suggested imposing an additional 8-anna tax on salt on the grounds that 'my countrymen should
eat less salt than that their children should continue to grow up in ignorance and darkness'.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:

Assertion-A : Gokhale was not in favour of free education for the poor.

Reason R: He suggested that those students whose family income was Rs. 25 per month or more, should pay the education
fees.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.
. Both A and R are correct but R is NOT the correct explanation of A.
. A is correct but R is not correct.
4. A is not correct but R is correct.
(Option 1 [32897]) 1
(Option 2 [32898]) 2
(Option 3 [32899]) 3
(Option 4 [32900]) 4
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(Option 1 [32897]) 1
(Option 2 [32898]) 2
(Option 3 [32899]) 3
(Option 4 [32900]) 4
Answer Given by Candidate : 4
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Question Correct Question Correct Question Correct
ID Option ID ID Option ID ID Option ID
PAPER 1 PAPER 2 PAPER 2

15201001 32702 18001 32901 18055 33120
15201002 32705 18002 329058& 32906 18056 33121
15201003 32711 18003 32910 18057 33128
15201004 32716 18004 DROP 18058 33131
15201005 32718 18005 32920 18059 33135
15201006 32721 18006 32922 18060 33138
15201007 32728 18007 32925 18061 33141
15201008 32731 18008 32930 18062 33148
15201009 32735 18009 32936 18063 33151
15201010 32739 18010 32940 18064 33154
15201011 32742 18011 32943 18065 33159
15201012 32746 18012 32946 18066 33163
15201013 32749 18013 32951 18067 33168
15201014 32756 18014 32954 18068 33170
15201015 32760 18015 32958 18069 33173
15201016 32762 18016 32964 18070 33177
15201017 32767 18017 32967 18071 33181
15201018 32772 18018 32969 18072 33186
15201019 32774 18019 32973 18073 33189
15201020 32777 18020 32978 18074 33193
15201021 32784 18021 32982 18075 33198
15201022 32785 18022 32987 18076 33203
15201023 32789 18023 32991 18077 33207
15201024 32795 18024 32993 18078 33210
15201025 32797 18025 32998 18079 33215
15201026 32802 18026 33004 18080 33218
15201027 32806 18027 33007 18081 33224
15201028 32809 18028 33011 18082 33227
15201029 32816 18029 33015 18083 33231
15201030 32818 18030 33018 18084 33235
15201031 32823 18031 33021 18085 33238
15201032 32826 18032 33025 18086 33243
15201033 32830 18033 33029 18087 33247
15201034 32836 18034 33036 18088 33249
15201035 32838 18035 33039 18089 33255
15201036 32842 18036 33043 18090 33259
15201037 32848 18037 33046 18091 33264
15201038 32849 18038 33051 18092 33267
15201039 32856 18039 33056 18093 33272
15201040 32857 18040 33057 18094 33273
15201041 32864 18041 33064 18095 33278
15201042 32865 18042 33068 18096 33281
15201043 32872 18043 33070 18097 33285
15201044 32873 18044 33075 18098 33289
15201045 32880 18045 33079 18099 33295
15201046 32883 18046 33081 18100 33297
15201047 32887 18047 33086
15201048 32889 18048 33091
15201049 32893 18049 33095
15201050 32900 18050 33098

18051 33101

18052 33108

18053 33109

18054 33116
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